Table S3. Inferential tests of past life satisfaction by political affiliation and present political climate.
	Model term
	F
	    df
	p 
	p2

	Sex
	0.01
	1,5236
	.916
	.000

	Age
	0.08
	1,5236
	.776
	.000

	Age-squared
	16.03
	1,5236
	.000
	.003

	Relationship
	0.03
	1,5236
	.853
	.000

	Education
	0.13
	1,5236
	.721
	.000

	Income
	16.73
	1,5236
	.000
	.003

	Religiosity
	9.35
	1,5236
	.002
	.002

	Real GDP per cap. 
	0.05
	1,5236
	.828
	.000

	Present satisfaction 
	291.51
	1,5236
	.000
	.053

	PA
	0.00
	1,5236
	.997
	.000

	PC
	2.65
	1,5236
	.104 
	.001

	PAPC
	7.55
	1,5236
	.006 
	.001

	PC|PA=Dem
	0.66
	1,1866
	.417
	.000

	PC|PA=Rep
	14.19
	1,1599
	.000
	.009


[bookmark: _GoBack]Note. PA = political affiliation, PC = present political climate (i.e., at time of polling), Dem = Democrat, Rep = Republican. 


o — D -

£ & 5 B
=] 2 8 B
= g £ £

P, . it g o a4 o



